SAN JOAQUIN VALLEY COLLEGE

TUITION & FEES 2011-2012*

Aviation Campus

DEGREE PROGRAMS

Technical Studies

Aviation Maintenance Technology

\$12,850.00 AY 1 AY 2 \$12,850.00 = \$2.800.00 AY3 TOTAL = \$28,500.00

Bakersfield Campus

	GREE			BAC
111-0	-K	PKII	(IVI 🦠
	311	\mathbf{I}	VII/A	

Business Studies

Business Administration Emergency Services & Safety Mgmt

Health Care Insurance Specialist \$15,500.00 AY 1

AY 2 \$14,250.00 = TOTAL = \$29,750.00

Criminal Justice: Corrections

AY 1 \$15,875.00 = AY 2 \$15,875.00

TOTAL =\$31,750.00

Medical Studies

Clinical & Admin Medical Assisting

Dental Assisting Pharmacy Technology Therapeutic Massage

AY 1 \$15,500.00 AY 2 \$14,250.00 TOTAL = \$29,750.00

Diagnostic Medical Sonography \$19,750.00 AY 1 AY₂ = \$19,750.00

TOTAL =\$39,500.00

Respiratory Therapy

AY 1 \$18,875.00 = AY 2 = \$18,875.00 TOTAL =\$37,750.00

Surgical Technology

AY1 \$15,875.00 AY 2 \$15,875.00 = TOTAL =\$31,750.00

Technical Studies

HVAC-R Technology Industrial Technology AY 1 \$15,500.00 = AY 2 = \$14,250.00 TOTAL =\$29,750.00

CERTIFICATE PROGRAMS

Medical Studies

Diagnostic Medical Sonography AY1 \$19,750.00 = AY₂ = \$19,750.00 TOTAL =\$39,500.00

Therapeutic Massage

AY1 \$15,500.00 TOTAL =\$15,500.00

Technical Studies

Industrial Technology

AY 1 \$15,500.00 = TOTAL =\$15,500.00

Fresno Campus

DEGREE PROGRAMS

Business Studies

Business Administration Health Care Administration

AY 1 \$15,500.00 AY 2 = \$14,250.00 TOTAL = \$29,750.00

Criminal Justice: Corrections

AY 1 \$15,875.00 = AY 2 \$15,875.00 TOTAL =\$31,750.00

Medical Studies

Clinical & Admin Medical Assisting

Dental Assisting

Pharmacy Technology

AY 1 = \$15,500.00 AY 2 \$14,250.00 TOTAL =\$29,750.00

Surgical Technology Veterinary Technology

AY 1 \$15,875.00 = AY 2 = \$15,875.00 TOTAL =\$31,750.00

Technical Studies

HVAC-R Technology

AY 1 \$15,500.00 = AY 2 = \$14,250.00 TOTAL =\$29,750.00

CERTIFICATE PROGRAMS

Medical Studies

Clinical Medical Assisting AY 1 \$15,500.00 TOTAL =\$15,500.00

Technical Studies

Industrial Technology

AY 1 \$15,500.00 = \$15,500.00 TOTAL =

Hanford Campus

DEGREE PROGRAMS

Business Studies

Business Administration Administrative Health Care Mgmt

Administrative Health Care Mgr AY 1 = \$15,500.00 AY 2 = \$14,250.00 **TOTAL = \$29,750.00**

Criminal Justice: Corrections

AY 1 = \$15,875.00 AY 2 = \$15,875.00 TOTAL = \$31,750.00

Medical Studies

Clinical Medical Assisting

AY 1 = \$15,500.00 AY 2 = \$14,250.00 **TOTAL = \$29,750.00**

Degree Completion

Medical, Business and Technical AY 2 = \$14,250.00 **TOTAL** = **\$14.250.00**

CERTIFICATE PROGRAMS

Business Studies

Business Administration
Administrative Health Care Mgmt
AY 1 = \$15,500.00

TOTAL = \$15,500.00

Medical Studies

Clinical Medical Assisting

AY 1 = \$15,500.00 **TOTAL = \$15,500.00**

Hesperia Campus

DEGREE PROGRAMS

Business Studies

Business Administration Administrative Health Care Mgmt

AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

Criminal Justice: Corrections
AY 1 = \$16,750.00
AY 2 = \$16,750.00
TOTAL = \$33,500.00

Medical Studies

Clinical & Admin Medical Assisting Clinical Medical Assisting Pharmacy Technology AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

Technical Studies

HVAC-R Technology Industrial Technology

AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

Degree Completion

Medical, Business and Technical AY 2 = \$15,300.00 TOTAL = \$15,300.00

CERTIFICATE PROGRAMS

Business Studies

Business Administration
Administrative Health Care Mgmt
AY 1 = \$16,650.00

TOTAL = \$16.650.00

Medical Studies

Clinical Medical Assisting
AY 1 = \$16,650.00 **TOTAL = \$16.650.00**

Technical Studies

Industrial Technology

AY 1 = \$16,650.00 **TOTAL = \$16.650.00**

Modesto Campus

DEGREE PROGRAMS

Business Studies

Business Administration Administrative Health Care Mgmt

AY 1 = \$15,500.00 AY 2 = \$14,250.00 **TOTAL = \$29,750.00**

Criminal Justice: Corrections

AY 1 = \$15,875.00 AY 2 = \$15,875.00 **TOTAL = \$31,750.00**

Medical Studies

Clinical & Admin Medical Assisting Pharmacy Technology Therapeutic Massage

AY 1 = \$15,500.00 AY 2 = \$14,250.00 TOTAL = \$29,750.00

Technical Studies

HVAC-R Technology Industrial Technology

AY 1 = \$15,500.00 AY 2 = \$14,250.00 **TOTAL = \$29,750.00**

Degree Completion

Medical, Business and Technical AY 2 = \$14,250.00 **TOTAL = \$14,250.00**

CERTIFICATE PROGRAMS

Business Studies

TOTAL =

Business Administration
Administrative Health Care Mgmt
AY 1 = \$15,500.00

Medical Studies

Clinical Medical Assisting Therapeutic Massage

AY 1 = \$15,500.00 **TOTAL = \$15,500.00**

Technical Studies

Industrial Technology

AY 1 = \$15,500.00 **TOTAL = \$15,500.00**

\$15,500.00

Online Division

DEGREE PROGRAMS

Business Studies

TOTAL =

Business Administration
Human Resource Administration
Construction Management
Medical Office Administration
AY 1 = \$16,000.00
AY 2 = \$14,800.00

Medical Studies

Clinical & Admin Medical Assisting
Clinical Medical Assisting

AY 1 = \$16,000.00 AY 2 = \$14,800.00 **TOTAL = \$30,800.00**

Degree Completion

Medical, Business and Technical AY 2 = \$14,800.00 **TOTAL = \$14,800.00**

CERTIFICATE PROGRAMS

Business Studies

Business Administration
Human Resource Administration
Medical Office Administration
AY 1 = \$16,000.00
TOTAL = \$16,000.00

Medical Studies

Clinical Medical Assisting
AY 1 = \$16,000.00 **TOTAL = \$16,000.00**

Rancho Cordova Campus

\$30,800.00

DEGREE PROGRAM

Medical Studies

Respiratory Therapy

AY 1 = \$21,575.00 AY 2 = \$21,575.00 **TOTAL = \$43,150.00**

Rancho Cucamonga Campus

DEGREE PROGRAMS

Business Studies

Business Administration Administrative Health Care Mgmt Construction Management

AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

Criminal Justice: Corrections

AY 1 = \$16,750.00 AY 2 = \$16,750.00 **TOTAL = \$33,500.00**

Medical Studies

Clinical Medical Assisting Pharmacy Technology

AY 1 = \$16,650.00AY 2 = \$15,300.00 TOTAL = \$31,950.00

Dental Hygiene

AY 1 = \$28,825.00 AY 2 = \$28,825.00 **TOTAL = \$57,650.00**

Instrument Kit/Uniforms: \$4,050.00*
*This fee is not refundable

Respiratory Therapy

AY 1 = \$21,575.00 AY 2 = \$21,575.00 **TOTAL = \$43,150.00**

Technical Studies

Industrial Technology

AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

CERTIFICATE PROGRAMS

Business Studies

Business Administration
Administrative Health Care Mgmt
AY 1 = \$16,650.00

TOTAL = \$16.650.00

Medical Studies

Clinical Medical Assisting Pharmacy Technology

AY 1 = \$16,650.00 **TOTAL = \$16,650.00**

Technical Studies

Industrial Technology

AY 1 = \$16,650.00 **TOTAL = \$16,650.00**

Temecula Campus

DEGREE PROGRAMS

Business Studies

Business Administration
Administrative Health Care Mgmt
AY 1 = \$16,650.00

AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

Medical Studies

Clinical Medical Assisting Clinical & Admin Medical Assisting

AY 1 = \$16,650.00 AY 2 = \$15,300.00 **TOTAL = \$31,950.00**

CERTIFICATE PROGRAMS

Business Studies

Business Administration
Administrative Health Care Mgmt
AY 1 = \$16,650.00

TOTAL = \$16,650.00

Medical Studies

Clinical Medical Assisting

AY 1 = \$16,650.00 **TOTAL = \$16,650.00**

Visalia Campus

DEGREE PROGRAMS	Instrument Kit/Uniforms: \$4,050.00*		TOTAL	=	\$34,750.00	
Business Studies Business Administration	*This fee is not-refundable Physician Assistant		LVN (Non-Degree) 30-unit Option			
Health Care Administration	AY 1	= =	\$20,500.00	AY 2 TOTAL	=	\$41,980.00 \$41,980.00
Human Resource Administration	AY 2	=	\$20,500.00			-
AY 1 = \$15,500.00	AY 3	=	\$20,500.00	RN + ad	lditional c	ourses*
AY 2 = \$14,250.00	TOTAL	=	\$61,500.00	\$475/pe	r unit	
TOTAL = \$29,750.00	Resnirat	atory Therapy *Additional degree requirement		e requirements		
Criminal Justice: Corrections	AY 1	=	\$18,875.00	Technical Studies		
AY 1 = \$15,875.00	AY 2	=	\$18,875.00			s Administration
AY 2 = \$15,875.00	TOTAL	=	\$37,750.00	AY 1	=	\$15,500.00
TOTAL = \$31,750.00	\/a -a+i	al Niveria	•	AY 2	=	\$14,250.00
Medical Studies	AY 1	nal Nursin =	ig \$15,875.00	TOTAL	=	\$29,750.00
Clinical & Admin Medical Assisting	AY 2	=	\$15,875.00			-
Dental Assisting	TOTAL		\$31,750.00	CERTIFICATE PROGRAMS		
Pharmacy Technology	· •			Medical Studies Clinical Medical Assisting		
AY 1 = \$15,500.00	Registered Nursing		2	AY 1		\$15,500.00
AY 2 = \$14,250.00	TOTA		TOTAL		\$15,500.00 \$15,500.00	
TOTAL = \$29,750.00	AY 1	=	\$29,475.00			-
Dental Hygiene	AY 2	=	\$29,475.00	Technical Studies		
AY 1 = \$28,825.00	TOTAL	=	\$58,950.00		al Technol	<u>,</u> ,
AY 2 = \$28,825.00	LVN to F	RN		AY 1	=	\$15,500.00
TOTAL = \$57,650.00	AY 2	=	\$34,750.00	TOTAL	=	\$15,500.00

^{*}Fees are subject to change.